Math 099 - Summer 2010 - Test 1

] -
Instructor: Dr. Francesco Strazzullo Name K“" >,
Instructions. Only calculators are allowed on this examination. Point values of each problem are indicated.
Always use the appropriate wording and units of measure in your answers (when applicable).
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. Write each sentence with an equation. Let & be the input. Let y be the output. The output is:
(a) (7pts) three times the mput decreased by four;
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(b) (7pts) thirty more than 2.5% of the input; 2‘)( % T ===
)/:’ 204 095X

(c) (7pts) the reciprocal of twice the opposite of the input.
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2. (24pts) The following is an input-output table, where the input @ is the amount in kilogallon of water
consumed and the output y is the cost charged.

X y model
0<a<20 2.35 dollars per kilogallon plus a fixed cost of 6.35 dollars 2%{)( + G ‘%a:‘
20 < & < 100 | 2.16 dollars per kilogallon plus a fixed cost of 10.15 dollars 2]6 X - foj_g'
2> 100 2.06 dollars per kilogallon plus a fixed cost of 20.15 dollars 2 Oé‘x -+ ,QOI 5

Fill the third column, writing each rule with an equation in @ and y.
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3. (18pts) In the setting of Exercise 2, use the following chart

X ¥
0<a <50 | 2.56x + 5.60

50 < z < 100 | 2.25x + 20.60
x> 100 2.06x+39.6

to caleulate the costs for the following consumptions.

Water consumed | Cost

15 kgal 3 43. &5 1 2.55-15+5.6
35 kgal $94.85 | X.50-3¢ +4.C
100 kgal j’{‘,zf{f.é@ 2.2¢:100 +20.6
110 kgal 1266.20] 2.0C.110 + 39 ¢




4. (18pts) Soft drinks at a movie theater have the following costs: 8 oz for $2.5, 16 oz for $3.65, and 20
oz for $4.50. Graph the volume and cost for these drinks as individual ordered pairs.
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5. (16pts) Combine like terms in the following expressi()nS'
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6. (8pts) Combine like terms in the expression 2.64b + 2.39a — 4.00a + 51 == é
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7. (20pts) Using the formula V = m?h, find the volume of a 2 feet pile of flat dishes, where each dish has

a radius of 3 inches.
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